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A= 4,990,435 5,108, 158 A117,723

500 Ex = 4,829,435 4,947,158 A117,723

510 = DEX3S 3,823,657 3,946,365 A 122,708

511 208X =3S 3,823,657 3,946,365 A 122,708

511-01 212X 3 3,242,267 3,368,326 A 126,059

O&IIXNSX 200 K& 126,000 252,000 A 126,000

ogZeg N&EL 200 0 200

OO0t =2 TIoHM A 14,963 18,750 N 3,787

OUZEXSFHARS(AHE2ER) 4,420 0 4,420

O334&EltRI| K& 43,349 44,241 A B892

511-03 213 21,390 18,039 3,351

OSAEHIAMEH N2 21,390 18,039 3,351

520 Al - SHIE X3S 1,005,778 1,000,793 4,985

521 Al - SHIEXZ2S 1,005,778 1,000,793 4,985

521-01 Al - SHIE X3S 1,005,778 1,000,793 4,985

ogZdeg N&EH 200 0 200

O4dBEIAMESH X2 1,500 1,002 498

OO0t == ool A 4,489 5,625 A 1,136
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O334tEitRI K& 12,629 12,630 A




